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¥ WEESS5FE

EAMIGER RS, HiEARRSsEXSRENSH, &
HEM L EARESEED, HiEERS 00, AoREX. §8
K300 MiF, B LHREN S MRBEKXFE, A S RiEE
TE 2500~—3000 NiF Z [6], B3R 50 8 TR

138 122 7 A T 4 o R R A Sl o DR IR B AR R BUE B Y
BES, R ERER, W ER—EHHE. ERRIRERTI)H
B BRTARASEENARE. S AIL’RZ N, BREEBERN
BT HERRE, TEEEN RS AR MR
M H o

— BB PYi% % (Reading in Sense Groups)

BORY R R 45 LA B B¥ (sense group) N BV #E4T B ik, I A
REZFZFRiE, SOERAXRE, TR REEFELERE
PORFIX 260517, R AP R &, KU R,
HIE R FINT. B,

When a young man || starts to earn his own living, || he be-
comes free from || the disciplines of school and parents, || but at
the same time || he is forced to accept responsibility. || He can no
longer expect others || to pay his for food, his clothes and his
room, || but has to work || if he wants to live comfortably.



= . JR 358 % (Guessing Word Meaning)

— P AFACERERY, ERES T HE S R IAR
B AR, FEX AR OL T, AT UAREE BT SRR MR L, miRRE
POAERXMEEE, B RERAKERS. THMTBILFAEN
I

1 & X (Definition)

P iB & CRLRE XS SCEE o B A AR 1R R SR SR E AT R R
RIER L LEPEHREFAZ WM, XA E CHIFR—A 81,
—NMEEL N F. 2R HAET U FH, FEmE R
W FZ B R SR 3 & B 153E A : be, mean, in other words, that
is, or, namely %%, W B AL AR ST SR BRI PR R, W
BS ESMENE, AEANT.

1. A satellite is 2 machine which orbits the earth to relay

communication signals over long distance.

2. Telecommunications means, simply, communication from a
distance. It may be by cable or radio or by the use of elec-
trical or electronic signals.

T LE A, “is”F “means” J5 & 4917 15 7+ Hll B “satellite”

F1“telecommunications” #9 7€ X,

3.Elephants have very long noses which we call “trunk”.

XM FH, “very long nose” X1 “truck” fy BLAK R

4. An unknown word may be a compound word, that is, a
word made up of two or more words.

TE AT, SEE 7T LA “that is(B, tLRER) 71X NS H)

“a compound word” ] & B ¥ “a word made. up of two or more
words” .
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5. Their friends laughed at them, and my sisters felt
wretched, very unhappy.
7 b iR%A)F 4, “wretched” #1“ very unhappy” Z [E] #7118 & &
RIE H AT R E R
I # i% (Restatement)
HTHEEREERNED TRBUFE THE — M ERNE
B, AEEEEES XM EREERNRE, RERWT.
1. Japan is now in recession. Its economic growth is slowing
down, business profits are declining, and more and more
people are out of work.
2. 1 am a resolute man. Once I set up a goal, I won’t give up
easily.
3. His car is a piece of junk. It is always breaking down.
E EAR=ZEP, NEBH G — 8 7 R ] 2 5] 5 reces-
sion” ,“a resolute man”F1“a piece of junk”" I ERT
Il 448 %1% & vk 47 1% 4% 3 32 (Logical Inference by Related
Informaiton)
it BT AR E R MEERINBEXR, U REE—
SR AR IR, R W AT T A R AR L Bl
1. If you choose a window seat, you’ll be able to enjoy the
scenery. In contrast, if you choose an aisle seat, you'll be
able to leave quickly..~
B —/8) 8 52 1 B9 B AU BB K KSR, B — ) PR B9 “ you'll
be able to leave quickly”, $#& M i & A HEE 5 “an aisle seat” BT
bipub-1: ). X AN
2. Just before the exam, Bill's heart beat fast and his hands
shook so much that he could not hold a pen. He really had
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a phobia about taking tests.
R 3& “heart beat fast, his hands shook - could not hold a pen”
XA IR, S F W AR i “phobia” K MR Z ..
3. “She went to school for 12 years and she can’t write a
sentence. ” Timken said, “ They made an illiterate out of
my daughter!”
MET +ZFEMAREE —4) 7 8] L H B illiterate” § &
R—“XE",

IV *t b (Contrast)

EFLH KBRS P A SR RS A 7 B B L SR AR AR
B ¥ , T 33 b Xeh S AR 4R R I B 0SB A 2 4 R R SLART Y

R, BE, EETUNKFH ML S — ?ﬁ%?a

WHETFEILT.

1.He is very dependable, but his brother is untrustworthy.

“but” FEHAEHBA T BE R T B /S X EL Y 36 &, “ dependable”
BTTEAY”, IA “untrustworthy” B £ R Al 8/, R o[ (S 4F
7,

2. Motion is absolute while stagnation is relative.

“while” 5[ 8 —~ X L9 A, 7E I H] 5 motion/ stagnation
1 absolute/relative 4331 39 WX 2 SCGiF , 1% % %058 & — 471 /9
BROURETFAET 5—1.

V %% (Examples)

SCEE 5 such as, like, for example, or 2597 B 3¢ B 91 T &

BB B RS RV B 5% R R TR MR A T AR A8 A AR

XERVWEERS, AEHMT .
1. Nature provides us with an immense variety of short fila-

ments for fibres.



“fibres” & filaments” B [F] (i & 7R 171, th 3L & X & Br 1 i) 4%
38

2. They have lacked the obvious provisions, such as central
heating, constant hot water supply, electrically operated
lifts from top to bottom, and so on.

M “such as” 5|t # 481& A LASE 4 provisions B & B,

3. Doctors recommend that everyone exercise every day, par-
ticularly those who spend many hours doing sedentary ac-

tivities like reading, typing, or sewing.
5] “sedentary” # & B 0] LA M BR 7 like /5 T Y reading,
typing or sewing PR 5 M H .

= .B&i% 7% (Skimming)

B R RURE P A — B, B R AR M. BRIERY KR
REBMEMNBTUNARRYEER L, TEEHEEBL
BHERUEERESEXXETRAARBEFEYAE. 55K
AT, EH N BT ILANEE

I EHAEEXFETALAR

AAXENE -BREESHEERPLBRREENE
B, MXENRE-BUEESLPIARERXENETENS,
XM TFHBLENEEMABEULEHEELLERBEHRRE
B,

I &% 2F R4 284 (Topic Sentence)

FrEEBA R RREE —REFXEE KRBT T, &
BREGAHMNBISEAERLFE ELRAEXHHOBET, B
EHEEA—RRERERERY, ZEN TXESKGRH.
BRFEAAN G RHRES TR R, iR %IEH
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Il 2% biz& L FFay L5

BT B g, B 13 0 R 1) B 2008 528 8] B 1% SO &, T R RE R
B E . ABLFAAETHXEN S OBRR? BRT LikM
RUSH XEFHXRBEELREE. RYIBURREENX
SR GRS SCE MR (S /MR SR AR ) | R AR A
SR T EEZE S . BRI, EEE TR AE B
XEFRALBETER RRERME %% RMEE, BRE
SEY 9] | B IRIAIE 2RI 3 A

JE %% (Scanning)

HEFREELESHEMERFREBRENEKEE
B, B AT RN XERS TR, T RERE TR
BT R BAES, RIS RERAT T o 33X R0 B 0 B 3L 57
ERERERE. TREZRARAKRI.MER DT HREEK
MEE, BEAENEE, MEEMEMNRETRXENKES S
OEE. BEREREREPHSHBRTE,
1% FA 2 L BHE R I L T IL&A
1 aTHEEREGELLIFIEF AH
RAXRE, 4 RE A BB 5 3 25 380 3 a0 3 % B M 3% AR
KEE R, HER TR 45, TN, RETTRELAHMEE
N1, RBBZHEEAE S, EEEXAEFL FHLR—E R
PR e B ERp ik,
I A& ERENH L GHHE, 228 LM PHA
E37]
SCEE RIS A e B (0 A BT R SR R R IR R B B F 19
MEAREE, %, FH LR O RPN T B RE
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1. TRH Mg 3 5 AR BT R R S B A b O AR

2. BOEMERR R 5 A XA B RUE %

3. MR BT SOy SR A R AR B W AR R R AR E O B R

FT—E BB B E A

LR RE SIS L BR b M AE A Ok B A M B L
F ) LR e BGR, BUB R R LR AE RS,
RN, FEEREBWTNMERE, MR LRED BT
HEATH R B IR R K B4R 41, 3 %5 B ORI Mk 13
B S MET. BRXEERBENEE &SNS ER9E%
FEATEHILA.

I 8 x&&

FERMRREEERZEXLEIGREB B L P LBA,
BEBREREIEERERT. EeHRAEE TG,

1. The best title of the passage is .

2. Topic of the article is .

3.The main idea of the passage is .

4. The passage is mainly about(concerned with) .

5.The passage mainly(primarily)deals with .



re

6. The author mainly discusses .

7.The title that best expresses the main ideais ___ .
8.The central idea conveyed in the above passage is
9.The author’s purpose in writing this passage is = .

10. The main idea of this selection may be best expressed as

11. What is the main topic( theme, subject, point)of the pas-
sage?
12. Which of the following is the best title for this passage?
13. What would be the most appropriate title for this pas-
sage?

14. What does the passage mainly discuss?

15. Which title suits this passage best?

16. Which sentence best summarizes the article?

I Ahm¥ A

REMAPEREEERE XEFFHXNFLKE ®E
REMH S, URRERE LAY RARHBIES. A
FTEHEBRBEEFUT =,

1. ¥¥BREEM 4] . LA what, who, when how where 25| 5 5]

.

A.What do we know about--+7

B.Why is (are)-+-?

C.How many(much)--in this article?

D.In what year---?

E.In what way---7

F.According to the passage, who(what, where, when) -+ ?

2. ER¥WE B MR XEFFENFRREEL.
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FRER T ERRXEEE)RTREES,

A.Which of the following statements is(not) true?

B. Which of the following is{not) mentioned in the article?

C. Which of the following does not explain--?

D. Which of the following statements is wrong according to

the author?

E. Which of the following is not listed as++7

F.All of the following are true except-

G. The author mentions all of the items listed below except--:

H. The author{ passage)does not tell us-

Il @A

HC AT £ A% A AR b T SO0 A 18 s 4R 8 i
A, MUXHEGERT, EAEBEEBU TR S . —RERBLET
 XEFREFEHZBRRETORMAEEN, REHEEHN S
SGZRESHERFAICAEESS S L, FROWIASE
EEEMFRLSIAR, XS AREENE X ETU YRS
ETFXFHRERXAEAREEHE— S M58, IRBEL4
BA—EHHWELFHE - MAREENHY S X,

FICEMREAFREES .

1.What is the possible meaning of the word “--’

2.Which is the probable definition of the word “-+-"?

3.The italicized word in line “--” means .

in line-++?

4. Which of the following is nearest( closest) in meaning to
5.By “--”, the author means .
6. In line -, the word " this ( that, these, those, it, them )"
stands for .
10



7.The word(phrase)“---"probably means .

8.The word(phrase)“--"is closest to ____

9.1n line-, the word“-*-” most probably means .

10. In line-:-, the word“---"could best be replaced by .

IV Aot R e 5] A

XRBRAERKMERE, BREEEERFCHERM LR
HECE ST EAN FEATH LT XHERSXRHETHE
B, RJE R HENT R R S S E AR, B, RS
HHMELX, AMUEEBXENRBEE, CEERERHN
B AN EEE SR SHER, CERRFRETHBENE
Bo (EE 25148 BB % A4 1 72 Y1 5 TOAR TG 35 Hb Bl B A8 s
HBOMFATHRERY, EE CHMALEREREN. R
R, B EF S MENSG R R RESHEEN, RA
T RIER

XA ARETREA
. The passage is intended to
. The passage implies that .
.It can be inferred from the passage that .
.It can be concluded from the passage that
. We can conclude(infer, see)from the article that .
. The writer implies that .

. The author suggests that .

W 3N N R W N -

. An inference which may(not)be made from the article is

9. According to the article, many people may .
10. The next paragraph would most probably deal with

11



